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PART—I: COMPULSORY I 1T—I : 

GENERAL STUDIES 

1. Which of the following diseases cannot 
be cured by antibiotics? 

(a) Tuberculosis 

(b) Tetanus 

(c) Measles 

(d) Cholera 

2. Which of the following pairs is not 
correctly matched? 

(a)  Computer : Charles Babbage 

(b)  Radio : Karl Benz 

(c)  Barometer E. Torricelli 

(d)  Dynamo : Michael Faraday 

3. The communication satellites are 
invariably 

(a) revolving at their own speed 

(b) stationary 

(c) geostationary 

(d) changing their track and speed 

4. For which substance among the 
following, conductivity increases with 
temperature? 

(a) Copper 

(b) Germanium 

(c) Silver 

(d) Iron 

5. The area of a regular hexagon of side 
2J cm is 

(a) 12J cm2  

(b) 18Jcm2  

(c) 18 cm2  

(d) 18Jcm2  

3,, 4jtfl{   tc4 

(a) 341 tci T1J1  

(b)  

(c)  

(d) RT T 1 f 

4. P-iRiRcf tijgj . ll1cIdil ffl4,i4 

(a) c1T1F 

(b) 'iIq4 

(c)  

(d) i1l 

5. 2I cm 'il 

(a) 12'Jcm2  

(b) 18J cm2  

(c) 18 cm2  

(d) 18/cm2  
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(a) 

8 

19 
(b) 

8 

21 

8 
(c) 

7 
(d) 

8 

19 
(b) 

8 

21 

8 
(c) 

7 
(d) 

8 

6. If 2x + = 3, then the value of 

x3+  1   +21s 

7. If one of the roots of the quadratic 

equation 2x2  + px + 4=0 is 2, then the 

other root is 

8. In which State was the military exercise 
'Vijay Prahar' held in May 2018? 

(a) Maharashtra 

(b) Gujarat 

(c) Rajasthan 

(d) Madhya Pradesh 

9. Who has won the Women Singles Title of 
Badminton in Commonwealth Games, 
2018? 

(a) Saina Nehwal 

(b) P. V. Sindhu 

(c) K. Gilmour 

(d) Michelle Li 

10. In the World Press Freedom Index, 
2018, India is placed at 

(a) 135th 

(b) 136th 

(c) 138th 

(d) 137th 

6. T1 2x+-=3, 
x 

(a) 

9. iif , 2018 s1-4 i iiIcii lcf 

Rii  Ii flii t? 

(a) thI1 clI1 

(b) ooTh 

(c) o 

(d) 1IkIft 

10. 1 ii1 kjqlcI,  2018 { 1R1 l 
ii 

(a) 135T 

(b) 1361 

(c) 138t 

(d) 137t 
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A.  

B.  

C.  

D.  

11. In which of the following texts, it is 
stated that those who could not speak 
Sanskrit language correctly were called 
'Mlecchas'? 

(a) Shveta.shvatara Upanishad 

(b) Gopatha Brahmana 

(c) Brihadaranyaka Upanishad 

(d) Shatapatha Brahmana 

ki *jc 

c1 'IIcfl ii? 

12. Match List-I with List-Il and select the 
correct answer using the codes given 
below the Lists 

List-I 

(King) 

A. Chandragupta I 

B. Samudragupta 

C. Chandragupta II 

D. Kumaragupta I 

List-H 

(Spouse) 

1. Dutta Dcvi 

2. Kuberanaga 

3. Kumara Dcvi 

4. Ananta Dcvi 

rr 

ft-n 
() 

2.  

3.  

4.  

Codes 

(a) A 
2 

(b) A 
3 

(c) A 
3 

(d) A 
4 

B C D 
3 4 1 

B C D 
2 4 1 

B C D 
1 2 4 

B C D 
3 1 2 

(a) A B C D 
2 3 4 1 

(b) A B C D 
3 2 4 1 

(c) A B C D 
3 1 2 4 

(d) A B C D 
4 3 1 2 
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13. With reference to the book Arthashastra, 
which of the following statements is/are 
correct? 

1. It is the oldest masterpiece on 
Indian State Policy. 

2. There is no description of Mauryan 
empire and administration in this 
book. 

Select the correct answer using the 
codes given below. 

Codes 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

14. Who among the following addressed 
Delhi as one of the greatest cities in the 
world? 

(a) Ibn Batuta 

(b) Alberuni 

(c) Farishta 

(d) Abul Fazl 

15. Who is known as the Father of India's 
Local Self-Government? 

(a) Lord Lytton 

(b) Lord Ripon 

(c) Lord Curzon 

(d) Lord Dalhousie 

16. At least how many days are required 
to give the prior notice for the 
impeachment of the President of India? 

(a) 7 days 

(b) 14 days 

(c) 21 days 

(d) 30 days  

13. 3efw1 il 1rd 

1. th31IIk14 1{ T3tT% 

Ml41c1q % 

2. 1 4  in iii.ii i 

11cI 

ftj1U1  

15. 1TtT 4cW iiw{ I ii 

1Icil ? 

(a) ciT Ii.{ 

(b) c1Th Ik'M 

(c) c1i c4 

(d) iii1 

16. 1T1 • J41T I1I11)'1 11I 1i 

1I fi i*i 

(a) 7f1 

(b) 14 

(c) 21 I 

(d) 3O1l 

GS-B 6 
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17. Who administers the oath of office and 
secrecy to the Governor of a State in 
India? 

(a) The President of India 

(b) The Vice President of India 

(c) The Chief Justice of the High Court 
of the State 

(d) The Speaker of the Legislative 
Assembly of the State 

18. Which Part of our Constitution 
envisages a three-tier system of 
Panchayati Raj? 

(a) Part IX 

(b) Part X 

(c) Part XI 

(d) Part XII 

19. Which of the following States has no 
oil refinery? 

(a) Gujarat 

(b) Kerala 

(c) Chhattisgarh 

(d) West Bengal 

20. Which of the following rivers does not 
flow in Australia? 

(a) Hunter River 

(b) Flinders River 

(c) Orange River 

(d) Gilbert River 

21. Which of the following States recorded 
decrease in its population in 2011 
Census? 

(a) Kerala 

(b) Sikkim 

(c) Nagaland 

(d) Manipur  

17. 1R1 1b11 u4 iitcf 

4iir r I1Icti %? 

(a)  

(b) %l4r1 

(c) F1 -iiiic.iI T T 1TTT'11 

(d) I1TT31T 

18.  fii 1  'u'i 
i i* 1u i? 

(a) W1 IX 

(b) W1X 

(c) %IVI XI 

(d) 'WI XII 

19. iIiRd 14 FT 1IK1I 

20. 1Hrc1Rf 11 

(a) 1k 

(b) 1i's4 fkci 

(c) 31T5 Rc 

(d) 1'k'i IcR 

21. 1iRcf   TT Ij 2011 ' .jiuf 

iii%? 

(a) 1 

(b) Rir 

(c) .jIJIIcu~ 

(d)  
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22. Which of the following is the most 
effective measure of population control 
according to Maithus? 

(a) War 

(b) Disaster 

(c) Birth control 

(d) Social evils 

23. Which of the following is not a biome? 

(a) Desert 

(b) Grassland 

(c) Ecosystem 

(d) Tundra 

24. Dudhwa National Park is situated in 
which of the following States? 

(a) Assam 

(b) Uttarakhand 

(c) Rajasthan 

(d) Uttar Pradesh 

25. According to the Fourth Round of 
National Family Health Survey, the 
current TFR (Total Fertility Rate—
children per woman) is 

(a) 22 

(b) 32 

(c) 42 

(d) 4.5 

GS-B 

22. 3R -1I1cf 
ir %? 

(a)  

(b) TPT1 

(c)  

(d) I11c kI1I 

23. 1riRd *ii i  '4i rt ? 

(a) UI*lH 

(b)  

(c)  

(d) 1 

24. 1 I1c.1 1 i1iRcf i{  

ffm 

(a) 3TT1  

(b)  

(d)  

25. uW 41kcK Tl T°T 
3R, cftI4I4 o qo 3o (i i'*H 

— v ii1ii) 

(a) 22 

(b) 32 

(c) 42 

(d) 45 

8 
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26. Which of the following census years is 
known as the 'Year of Great Divide' in 
India? 

(a) 1911 

(b) 1921 

(c) 1951 

(d) 1991 

27. SRI method is related to 

(a) wheat 

(b) cotton 

(c) mustard 

(d) paddy 

28. Which of the following pairs is not 
correctly matched? 

Crop Insect-pest 

(a) Groundnut Pod borer 

(b) Gram Pod borer 

(c) Paddy Banka 

(d) Maize Stem borer 

29. The rotation intensity of Maize-Potato-
Mung bean is 

(a) 100% 

(b) 200% 

(c) 250% 

(d) 300%  

30. Which of the following pairs is not 
correctly matched? 

Crop Variety 

(a)  Groundnut : Kaushal 

(b)  Mustard : Vardan 

(c)  Linseed : Chamatkar 

(d)  Gram Udai 

26. -i1iftd *1hiUHF iit It 

'1ITH T ' It i-si '1Icti 

(a)  1911 

(b)  1921 

(c)  1951 

(d)  1991 

27. 10  3IRo 3I10 f1b *I 3-TI % 

(a) It(It 

(b) ciii 

(c) *1k*1i 

(d) TR 

28. iRiRcf It c- 

: 

Rii rt %? 

(a) 4 N'fl 

(b) R1 

(c) '-TFI : c1 

(d) T1 : FI1i 

29. 1-3T-11 if- i*iii % 

(a) 100% 

(b) 200% 

(c) 250% 

(d) 300% 

30. 1Hf1Pcf It t-{-1 U4  Rici Wf ? 

(a) 4jNfl cIc1 

(b) *Kil : cRI-( 

(c) 3TRf :  

(d) 11 : 
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(a) 5, 3, 4, 

(b) 3, 5, 1, 

(c) 5, 3, 1, 

(d) 5, 3, 1, 

1,  2 

4, 2 

4, 2 

2,  4 

32. ft-i fl-ii 1Rict c41 iiT - 
c 111 Ik  

A. -c1i.1 1. i-1fl 

B. 2. 

C. ~vqjl.f 3. fpx 

D. *fl cqj.1 4. 

5. 1bcT1T 

(a) A B C D 
1 2 4 5 

(b) A B C D 
4 1 2 3 

(c) A B C D 
5 1 3 2 

(d) A B C D 
4 1 5 3 

PART—Il: HOME SCIENCE I 1TTt—II : 1ii'i 

31. Give the correct sequence of the process 
of spliting up of carbohydrates by the 
action of ptyalin 

1. Erythrodextrin 

2. Isomaltose 

3. Boiled starch 

4. Achrodextrin 

5. Soluble starch 

Codes 

(a) 5, 3, 4, 1, 2 

(b) 3, 5, 1, 4, 2 

(c) 5, 3, 1, 4, 2 

(d) 5, 3, 1, 2, 4 

32. Match List—I with List—Il and select the 
correct answer using the code given 
below the Lists 

List-I List-Il 

A. Leucosin 1. Muscle 

B. Myoalbumin 2. Milk 

C. Lactalbumin 3. Lymph 

ID. Serum albumin 4. Wheat 

5. Egg white 

Codes 

(a) A B C D 
1 2 4 5 

(b) A B C D 
4 1 2 3 

(c) A B C D 
5 1 3 2 

(d) A B C D 
4 1 5 3 
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A 
5 

A 
2 

A 
3 

A 
3 

B 
2 

B 
3 
B 
2 

B 
1 

D 
3 

D 
4 

D 
4 

D 
5 

C 
1 

C 
1 

C 
5 

C 
4 

33. Match the nutrients in List-I with their 
deficiency symptoms in List-Il and 
select the correct answer using the code 
given below the Lists 

List-I List-H 
A. Tocopherol 1. Antirachitic factor 
B. Calciferol 2. Antiscorbutic factor 
C. Ancurine 3. Antisterilitic factor 
D. Retinol 4. Antineuritic factor 

5. Antizerophthalmic 
factor 

Codes 

(a) A B C D 
5 2 1 3 

(b) A B C D 
2 3 1 4 

(c) A B C D 
3 2 5 4 

(d) A B C D 
3 1 4 5 

34. Consider the following and select the 
correct answer 

1. The first fluid secreted in the first 
three days after labour is called 
colostrum. 

2. The higher protein content is mainly 
due to the presence of globulins. 

Codes 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

35. Which of the following is not the 
principle of development? 

1. Development proceeds from specific 
to general. 

2. Development proceeds by stages. 

3. Development is unpredictable. 

4. Development follows a definite 
sequence. 

5. Development follows change. 

Codes 

(a) 1 and 5 only 
(b) 1 and 3 only 

(c) 3 and 5 only 

(d) 3 only  

33.k-I fl-II1 

fi TUI1 11vll 1T 

TT M1l3lR: 

A. ki 1. I)IA) cbR 

B. rVhTc1 2. T4IqI'cb 

C. . r4rr c  

D. l-iii 4. iu)4Qc  

5. 

34. 1.{ IR c11I lfl k1  T31 

1. lk1c1 ic1Pl th1 i1i 
cUc'iI i)*f 41R1F'I 

2. 4 j quj 

%i 

(a)  

(b)  

(c)  

(d)  

35. 

1. 1I{ ri 1iiJ4 t 3t 3TITT 

1ciiI 

2. 1i T1cfli 

3. Iti1 MIHH 

ftt 

4. I4c4R- 1 i1fi (11 %i 

5. i*bR1 .i1kcci T 

(a) ci1fl5 

(b) r1rI13 

(c) 'c4f3TT5 

(d)  3 

/23-B 11 [ P.T.O. 
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36. Recapitulation theory of play was 
propounded by 

(a) Herbert Spencer and Schiller 

(b) McDougall 

(c) Stanley Hall 

(d) Gross 

37. The presence of medulla is 
characteristic of 

(a) cotton fiber 

(b) wool fiber 

(c) nylon fiber 

(d) silk fiber 

38. Match List—I with List—I! and select the 
correct answer using the code given 
below the Lists 

List-I List-H 

A. Absorptivity 1. Bending without breaking 
being pliable 

B. Elastic 2. Comeback to its original 
recovery value after being 

compressed 

C. Resiliency 3. To attract and hold 
liquids within the pores 

D. Flexibility	 4. To recover to its original 
length after the tension 

Codes 

(a) A B C D 
3 4 2 1 

(b) A B C D 
3 2 4 1 

(c) A B C D 
3 4 1 2 

(d) A B C D 
2 3 1 4 

36. 1(Ii1 McicTcb 

(a) Ici 

(b) c4M 

(c) ~.iclic-i 

(d)  

(a) q1trT 

(b) 4ii 

(c) iii4tTI 

(d) cfl 

38. -I -II TT rld cl1t T 

Tk1) 1Tt: 

ft-i ft-n 

A. iii 1. l.ii 

B. ciIIc4, Rc+) 2. 31 

1j1 3l1R  

pT 

C. fHir 3. f rT 
I  

D. ilciIM4 . r1 ci.iicl tJl c  

L1I4 3TT 9 
c1I{ 3TH 

(a) A B C D 
3 4 2 1 

(b) A B C D 
3 2 4 1 

(c) A B C D 
3 4 1 2 

(d) A B C D 
2 3 1 4 

/23-B 12 
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39. Give the correct sequence of 
manufacturing cotton fibre 

1. Combing 

2. Cultivation 

3. Opening and blending 

4. Ginning and bonding 

5. Spinning 

6. Silvering 

7. Carding 

Codes 

(a) 2, 3, 4, 1, 5, 6, 7 

(b) 2, 3, 4, 7, 1, 6, 5 

(c) 2, 4, 3, 7, 1, 6, 5 

(d) 2, 4, 3, 1, 7, 6, 5 

40. Which of the following factors 
contributes the property of cohesiveness 
of textile fibres? 

1. Fineness and nature of surface 

2. Length and pressure through 
twisting 

Codes 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

41. Write the sequence of stages of yarn 
construction 

1. Drawing out 

2. Combing 

3. Roving 

4. Spinning 

5. Carding 

Codes 

(a) 5, 2, 1, 3, 4 

(b) 2, 5, 1, 3, 4 

(c) 5, 3, 2, 1, 4 

(d) 2, 5, 3, 1, 4 

39• c44{ ~ ~ c4I{ T 

1.  c1)ct.jf 

2.  (d1c4*11 

3.  ki.t T 

4.  14k 1ii.ir T T1RT 

5 cfl 4*i1 

6. Ift 'HH1 

7• FT 

(a) 2, 3, 4, 1, 5, 6, 7 

(b) 2, 3, 4, 7, 1, 6, 5 

(c) 2, 4, 3, 7, 1, 6, 5 

(d) 2, 4, 3, 1, 7, 6, 5 

40. )f ~ ~ 
V 

1.  

2.  

elIc, 

iii t RT cflcf 

(a)  ~ri 

(b)  cli 2 

(c)  1 TT 2 c.it 

(d)  1,RI2 

41. - Tu 3fl3i 

1.  Tjii 

2.  c4i1lI 

3.  1fT1 

4.  

5.  c4J(1 

(a) 5, 2, 1, 3, 4 

(b)  2, 5, 1, 3, 4 

(c)  5, 3, 2, 1, 4 

(d)  2, 5, 3, 1, 4 

/23-B 13 [ P.T.O. 
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42. The ability of the fibre to come back to 
its original volume after being 
compressed is called 

(a) flexibility 

(b) elasticity 

(c) resiliency 

(d) tensile strength 

43. Upholstery is used for 

(a) to cover furniture 

(b) floor covering 

(c) bed linen 

(d) All of the above 

44. Bleaching agent, also known as Javelle 
water, is 

(a) hydrogen peroxide 

(b) sodium perborate 

(c) potassium permanganate 

(d) sodium hypochioride 

45. Number of twists in high twist yarn are 

(a) 0-3 twists per inch 

(b) 3-7 twists per inch 

(c) 7-12 twists per inch 

(d) 12-15 twists per inch 

46. Gestational diabetes is 

(a) diabetes that occurs during 
pregnancy 

(b) prediabetic stage 

(c) diabetes that occurs after pregnancy 

(d) None of the above 

47. Which of the following is not the 
mechanical finish? 

(a) Calendering 

(b) Synchronizing 

(c) Moireing 

(d) Crease-resistant finish 

48. The Consumer Protection Act was 
passed on 

24th December, 1980 

24th December, 1982 

24th December, 1986 

(d) 24th December, 2000 

42.TjUT, f*&i1 

ct,1i(11 

(a) 'Ific1I4-f 

(b) T1T 

(c) M1t*chcc1I 

(d) HITt 

43. T 4'11i 1r '1Ic1t 

(a) ct 

(b) 1iIcl.1 

(c)  

(d) t,if 

44. Iiict, i iif 1Z if c1Id1 , 

(a) I'31{ uct*iI 

(b) 11i iT 

(c) '11I4i '4Ik 

(d) 4i)rH ti'ki 

45. 

(a) 0-3 .&i 5r1r 

(b) 3-7 o4 TfT T 

(c) 7-12T 

(d) 12-15fi 

46. 'k~i.if .siqflLf 

(a) D)cft 

(b) t j41c11I 

(c) T'TId 

(d) mR1 

47. fR -ft i1ci 1iii T1 ? 

(a) 1ki 

(b) l.itti'i 

(c) 11kii 

(d) 4F'II 

48. T WT1 f-Tf ift n n 

(a) 24  1980 l 

(b) 24 Ii4k, 1982 

(c) 24It, 1986 

(d) 24 1*(, 2000 

(a)  

(b)  

(c)  
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49. A sewing thread should have a property 
of 

(a) elastic recovery 

(b) high-friction resistance 

(c) extensibility 

(d) good appearance 

50. The method of developing a pattern from 
body measurement is 

(a) draping 

(b) drafting 

(c) clothing construction 

(d) All of the above 

51. A plain dress with no outer decoration 
on it is 

(a) structural design 

(b) decorative design 

(c) surface design 

(d) All of the above 

52. Carbonizing is a 

(a) drying process 

(b) finishing process 

(c) roving process 

(d) retting process 

53. Muscle that is essential for maintenance 
of posture in the sitting and standing 
position is 

(a) skeletal muscle 

(b) smooth muscle 

(c) cardiac muscle 

(d) None of the above 

54. 'Haploid number' is a term used in 

(a) mitosis 

(b) meiosis 

(c) mutation 

(d) None of the above 

55. Blood cells smaller than monocytes and 
have large nuclei are 

(a) erythrocytes 

(b) lymphocytes 

(c) basophils 

(d) platelets 

49. iiii T T 'ki .ii1  

(a) ciif  fctcU 

(b) 1-ictH 1314.*i 

(c) ~1111R11 

(d) 31Lfli 

50. ik j ;i ir  li iii 
(a) 41TI 

(b) 't1i 

(c) 11i 1 i c.-jc4 

(d) fmTh 

51. 1Icfl IIcb, ii*{ 1T 1Ic4 1 

(a) HIc4-icb .1l-1i1 

(b) th1I4c 11t 

(c)  

(d) imft 

52.  

(a)  

(b) 11iii 

(d)  

r 
(a) c4,cbIf III1I 

(b) I11TT jf) 

(c) cT Hi1lfl 

(d)  

54 Lçj jr4 fii '1tc1l 

(a) If1k1 

(b) 1311f1 

(c) 4- lH 

(d) ThclRt 

55. ctIIcbIV, i1  iit c11 % 

riIt I YI41 '1Ril 

(a) lii 

(b) 1it  

(c) rci 
(d)  
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56. Tct  'ui L 
(a) ijiii  iIqc cflq, 

(b) t*iici   14.l1cl 

(c) jiif  

(d) UT cicfrflcb

(a) jqUJ i• i 

(b) 1uI14c*, iT i 

(c) uIIcHc, fT 

(d) quI1cc,  i%T c'4i 

58. lcIi, *iTm 

(a) i( 1T.i 
(b) 3TT 11 

(c) ki1fl4 P1.l 

(d) j1wiif 

59 4qç".jf, f 

L ciicfl 

(a) -1i c'4.4.11 

(b) i.iic 

(c) c1i 4fc+'.l.jf 

(d) c4uc1cb {kci ,ti.ii 

60. *f, r  i1f~.s i c  , 

(a) I  

(b) c1ju1 41 

(c) 1r 4'cf 

(d) i 

61. .IctlF, Ii 1: 1000 lRltt lR 

1i imi L IIdI 

(a) "IjU  41'*ii 

(b) tTtR1T 4)'.JHF 

(c) -T 4MI 

(d) i1  i)*ir 

qiiçft 

(a) crfl T1T%iT 

(b) f3iiT. 

(c) ius 3lflwT 

(d) 'iQ.i f.irr 

56. Rorschach inkblot test is a kind of which 
of the following techniques? 

(a) Sociometric technique 

(b) Constructive technique 

(c) Completion technique 

(d) Projective technique 

57. Research design which is the simplest 
and most loosely structured is called 

(a) pre-experimental design 

(b) conclusive research design 

(c) exploratory research design 

(d) descriptive research design 

58. Sampling which comes under probability 
sampling design is 

(a) cluster sampling 

(b) quota sampling 

(c) purposive sampling 

(d) convenience sampling 

59. Hypothesis which does not state the 
expected relationship between two 
variables is called 

(a) one-tailed hypothesis 

(b) rational hypothesis 

(c) two-tailed hypothesis 

(d) descriptive hypothesis 

60. Scale which is also called summated 
scale is 

(a) staple scale 

(b) forced scale 

(c) Likert scale 

(d) comparative scale 

61. House plan drawn on 1: 1000 scale is 
called 

(a) site plan 

(b) floor plan 

(c) landscape plan 

(d) service plan 

62. When bone breaks into three or more 
pieces, it is called 

(a) green stic fracture 

(b) compound fracture 

(c) comminuted fracture 

(d) complicated fracture 

/23-B 16 

I 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


63. Which type of method of artificial 
respiration is given to children above 
five-year old? 

(a) SalTer's method 

(b) Silvester's method 

(c) Labord's method 

(d) Nelson's method 

64. The strongest fiber is 

(a) nylon 

(b) rayon 

(c) flax 

(d) acrylic 

65. When rice is cooked in excess water 
which is discarded, there is loss of 

(a) vitamin A 

(b) B complex 

(c) vitamin C 

(d) calcium 

66. The RDA for calcium for post-
menopausal women is 

(a) 600 mg/day 

(b) 900 mg/day 

(c) 700 mg/day 

(d) 800 mg/day 

67. Which hormone decreases the mortality 
of the stomach muscles of GIT during 
pregnancy? 

(a) Progesterone 

(b) Estrogen 

(c) Thyroxine 

(d) Insulin 

68. The small molecule which is absorbed 
very quickly in the body is 

(a) polysaccharide 

(b) cellulose 

(c) hemicellulose 

(d) monosaccharide  

63. 33I fc*j4 

(a)  ifb 

(b)  

(c)  

(d) 4t1 

64. 3Tr 44f TI * 

(a) 'iiiiT-i 

(b) Wt 

(c) 4  

(d)  

65. lI'f 3f1 mfi Il   uir i qpft 
1TT ttii , ii kii 

(a) i14A1 

(b)  

(c) rcI14 C T 

(d)  ir 

66. 1 1i 
3oo10 'kfl 

(a) 600 iro To/ 

(b) 900 jo io/iI 

(c) 700 Io io/ft 

(d) 800 fTo iio/j 

67. T1 cI4 T-T i41t fto 3To to 

3iiittig t TI c,i4flçiciI 

cdf 

(a) *~T4 

(b) &klI1 

(c) iiiTf.i 

(d) 1r1.1 

68. Ir 39, I1i lii 

(a) Tflis 

(b) ci1i 

(c) cik 

(d)  
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69. The first indicator of PEM is 

(a) underweight for age 

(b) overweight for age 

(c) low BMR 

(d) All of the above 

70. The term 'dynamic equilibrium' deals 
with 

(a) protein-enerr ratio 

(b) calcium-phosphorus ratio 

(c) mineral balance 

(d) None of the above 

71. Semi-essential amino acid is 

(a) arginine 

(b) leuciné 

(c) alamine 

(d) valine 

72. The lengthwise interconnecting loops in 
knits are referred to as 

(a) warps 

(b) ridges 

(c) wales 

(d) courses 

73. The main stitch used in Karitha of 
Bengal embroidery is 

(a) running stitch 

(b) herringbone stitch 

(c) shadow stitch 

(d) French knot 

74. Long length fibers are known as 

(a) staple fiber 

(b) elongation fiber 

(c) filament fiber 

(d) blended fiber 

69.400T10 

(a) 3-3R il 

(b) T-1R 3TfT 'i-ir 

(c) ( lo WTo 3flo  

(d) Lth tft 

70. "i11ki 1.1'  

(a) 31tt-1 3TI T 

(b)  -'4Tkk{ 3TI T 

(c) 1T 1c1ui E 

(d)  

71. 3f-34Ic4t' 3i'Thj 3T 

(a) 31iff.fl.i 

(b) v-fl4 

(c) L1I1.fl.j 

(d) ftt 

72. cIkl c1d: 

(a) flR1 

(b)  

(c)r 

(d)  

73. ii'4 TT T: '4Ic1  

(a)  

(b) k1i1 

(c)  

(d) IY 

74.  

(a) *~Yf 9Ilk 

(b) ii-i4  

(c) i-  4I 

(d)  
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75. The science of silk is known as 

(a) ericulture 

(b) sericulture 

(c) pisciculture 

(d) colony culture 

76. Gestation period of human fetus is 

(a) 260 days 

(b) 270 days 

(c) 290 days 

(d) 280 days 

77. At the age of four months, baby's weight 
is normally 

(a) doubled 

(b) tripled 

(c) half 

(d) None of the above 

78. Ovum is matured in 

(a) 20 days 

(b) 25 days 

(c) 28 days 

(d) 30 days 

79. Community Development Programme 
was started from 

(a) 2nd October, 1952 

(b) 5th September, 1954 

(c) 2nd November, 1956 

(d) 10th October, 1958 

80. Asepsis means 

(a) removal of microorganisms 

(b) keeping out microorganisms 

(c) killing the microorganisms 

(d) hindering the activity of micro-
organisms 

75. 

(a) l4c-vR 

(b) OcbcR 

(c) flq- 

(d) cbMWl  

76. F4 ifi cfl 

(a) 260 1T 

(b) 270 1-s 

(c) 290 1I 

(d) 280 fT 

77. R •RT t 3TT 
d1 

(a) it 

(b) I 

(c) 3IT 

(d) mci1R1 

78. 3T9 '44b lii 

(a) 20 1~ 

(b) 25f1 

(c) 28I4i 

(d) 30 P.- 

79. ii1ic* Ic+l{ c*,i4 WT 3T 1T? 

(a) 2 3R, 1952 

(b) 5 r14-, 1954 

(c) 2  1956 

(d) 10 3T, 1958 

80. (&1{'T 

(a) tuJ3RI t HI 

(b)  

(c) IiiR.iE 

(d) lu3it t  

c4*11 
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81. sI1I4R (I.It4) cfl( cc*fl 

nqRl,  mtTT2fl? 

(a) 'iilkii 1i~*i) 

(b) ic4tT 

(c) Icf 3P II'1 fl4c1.i 

(d) dRlGI 

82. ii 4&i13f ciIciis fiR: 

1.  

2.  31UId 

3.  T-1fW1 

4.  F44 

(a)  4, 3, 1, 2 

(b)  2, 4, 3, 1 

(c)  2,3,1,4 

(d)  1,3,4,2 

83. FT kH1 i1Icf 

(a) -iIi 311t  

(b) -M4I *T % 

(c)  

(d)  

84. T.kicii Rci ? 

(a) ciMi1 r  

(b) 1Ir t 

(c) 31'11 T  

(d) t1iii 

85. MIg T IQ c1I 

(a) 1403TftT 

(b) 120 ifti 

(c) 1003TftT 

(d) 170RftT 

81. Kindergarten type of pre-school 
programme was established by 

(a) Maria Montessori 

(b) Friedrick Froebel 

(c) Rachel and Margaret McMillan 

(d) Tarabai Modak 

82. Consider the following events and 
arrange these in chronological order 

1. Implantation 

2. Ovulation 

3. Sex determination 

4. Fertilization 

Codes: 

(a)  4, 3, 1, 2 

(b)  2, 4, 3, 1 

(c)  2,3,1,4 

(d)  1,3,4,2 

83. The cry of baby at birth 

(a) stimulates breathing process 

(b) stimulates blood flow 

(c) indicates that he is hungry 

(d) indicates that he is in pain 

84. Secondary law of Thorndike is related to 

(a) law of readiness 

(b) law of multiple response 

(c) law of exercise 

(d) law of effect 

85. IQ of genius is 

(a) more than 140 

(b) more than 120 

(c) more than 100 

(d) more than 170 
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86. Match List—I with List—lI 
correct answer using the 
below the Lists  

and select 
code given 

86. -1 -II Qlf1d ..n i 
c T 31T c  

List-I (Theorist) 

A. Vyogotsky 

B. Erikson 

C. Piaget 

D. Freud 

Codes 

(a) A B 
2 3 

(b) A B 
1 3 

(c) A B 
2 1 

(d) A B 
1 4  

List-Il (Theory) 

1. Psycho-social 

2. Socio-cultural 

3. Pyscho-analytical 

4. Cognitive 

C D 
4 1 

C D 
2 4 

C D 
4 3 

C D 
2 3  

t-I (ii.ctii) 

A.  

B.  

C.  

D. ir 

(a) A B C D 
2 3 4 1 

(b)A B C D 
1 3 2 4 

(c)A B C D 
2 1 4 3 

(d) A B C D 
1 4 2 3 

87. Enuresis is the behaviour problem of 

(a) sleepwalking 

(b) stealing 

(c) thumb sucking 

(d) bed-wetting 

88. Social learning theory of personality is 
related with 

(a) Skinner 

(b) Albert Bandura 

(c) Erikson 

(d) Piaget 

89. Colour blindness is a 

(a) deficiency disease 

(b) metabolic disorder 

(c) genetic disease 

(d) None of the above 

90. Recommendation of banning admission 
tests, textbooks and homework for 
pre-school children was made by 

(a) Kothari Commission 

(b) Yashpal Committee 

(c) National Policy on Education (1986) 

(d) Abbot and Wood Committee 

87. r1l iir d) ? 

(a) fiii 

(b) 91U *ii 

(c) 39Ti 

(d) I*i ftii ..ii 

88. *Iii cifli 2j 

(a)  

(b) 3 u:i 

(c) vj.c1a i.i 

(d) fi 

89. vr1%Tm %, T 

(a) 1.iiii-i ii 

(b) ii1ci t'T 

(c) IIct1T 

(d) c4f1 

90. 4fl Icicti 

T c4 
ft 

(a) coiU cfl4 

(b) t'tci  

(c) tilq IT1T 41Ir (1986) 

(d)  
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91. The brain reaches 90% of its adult 
weight by the time the child is 

(a) four years old 

(b) five years old 

(c) six years old 

(d) seven years old 

92. Molecule of heredity is 

(a) DNA 

(b) RNA 

(c) ATP 

(d) None of the above 

93. Five-year-old children are able to cut 
paper along a straight line with scissor. 
This skill is a 

(a) gross motor skill 

(b) fine motor skill 

(c) technical skill 

(d) None of the above 

94. The concept of operant conditioning was 
given by 

(a) Skinner 

(b) Pavlov 

(c) Maslow 

(d) None of them 

95. The word 'empowerment' means control 
over 

(a) assets 

(b) knowledge 

(c) attitude 

(d) All of the above 

96. Give the correct sequence of steps in 
extension teaching 

1. Attention 

2. Desire 

3. Action 

4. Satisfaction 

5. Conviction 

6. Interest 

Codes 

(a) 6, 1,2,3,5,4 

(b) 1, 6,2, 5, 3,4 

(c) 1,2,3,5,6,4 

(d) 1,3, 5, 6,4,2 

91. c1x* cl1 R T 90% 'lc1i 

(a)  

(b)  

(c)  

(d)  

92. cliij T 39 

(a) o 1To  10 

(b) 3Ro Tf o 10 

(c) totot4o 

(d)  

 cM ffi)l 

(a) 9T 11Icc4, ccI 

(b) 1 IIc4 cb c*Ici 

(c) dcfrflcGt cj1 

(d) mR 

94• ( ç c ti (.3M li1t'r) 

(a) Ifrit 

(b) clv1cI 

(c)  

(d) c4  .11 

95. IIb (iic.) 1i  1Pci c  ? 

(a) w-'1i 

(b)  

(d) mI%f 

96.  Ruii 

1. t1HIcbUI 

2. 31TT1 

3.0 

4.  

5. Ic4I*1 

6. 1Tf€1 

(a) 6, 1,2,3,5,4 

(b) 1,6,2,5,3,4 

(c) 1,2,3,5,6,4 

(d) 1,3, 5, 6, 4,2 
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97. Empowerment of women was the issue 
of which of the following Five-Year 
Plans? 

(a) The Seventh Five-Year Plan 
(b) The Eighth Five-Year Plan 
(c) The Ninth Five-Year Plan 
(d) The Eleventh Five-Year Plan 

98. Arrange the following events in 
chronological order 

1. Marthandam Project 

2. Sevagram Project 

3. Gurgaon Project 

4. Etawan Pilot Project 

Codes 

(a) 1, 3, 2, 4 

(b) 2, 1, 3, 4 
(c) 1, 2, 4, 3 
(d) 2, 1, 4, 3 

99. Which of the following is not a barrier to 
communication? 

(a) Noise 

(b) Language 

(c) Income group 

(d) Boredom 

100. Community development has grown out 
of the concept of 
(a) mass education 
(b) extension education 
(c) social education 

(d) None of the above 

101. The Prime Minister Kaushal Vikas 
Yojana is 

(a) formal education 
(b) non-formal education 

(c) group education 

(d) informal education 

102. Which of the following is not correctly 
matched? 
Extension Type of 
method contact 

(a) Home visit — Individual contact 
(b) Television — Mass contact 
(c) Seminar — Mass contact 
(d) Result demons- 

tration — Individual contact 

(a) 1, 3, 2, 4 

(b) 2, 1, 3, 4 

(c) 1, 2, 4, 3 

(d) 2, 1, 4, 3 

99. Pii c4f-ff  rt %? 

(a)  

(b) TT 

(c) 3RTT-wj 

(d)  

100. iii1Zci IcbI 'i41 (te*il c4, çf 31T 

(a) ksIcbft1T 

(b) M1R1R-rl 

(c) iitIi  fTIT 

(d) mt.ig1 

101. E%1I1H4l c4Ij cbR-j 1'*ii 

(a) 3ifiTIT 

(b) flIFkc1k fii 

(c) Ict fii 

(d) 31Ifkc+ft1T 

102. lsi-i  -i-i *i ici T 

lR 'M 4..1c 'T icti'( 

- 

14-4 

- 

— rm't ix4 
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103. i*1R ftiui 

1. cb.1 

2. 1IR 

3. iH4F 

4. TTcbI4-1R1 

5. 3E rmiir 

(a) 5, 3, 4, 2, 1 

(b) 3, 2, 5, 4, 1 

(c) 2, 3, 4, 5, 1 

(d) 3, 5, 4, 1, 2 

104. uW iii MuIIfl I'i 

(a) 1952 

(b) 1953 

(c) 1954 

(d) 1956 

105. 1-i   r1 ? 

1. 10 

2. Ti81 

3 fc  1T 1 11 

4. 

(a) 3TT4 

(b) 11T4 

(c) 21T3 

(d) 11T2 

106. 1 o o flo i 

(a) t11T 31Iclut, rftiw 

(b) tfH 3ITuI, 

(c) 3iici4ct, Tfk:m 

(d) 3Ic*k,ifk11.l 

107. .4cfl.j wvii-ii 

103. Arrange the following five essential 
phases in the extension education 
process in correct sequence 

1. Evaluation 

2. Reconsideration 

3. Situation and problem 

4. Teaching plan of work 

5. Objective solution 

Codes: 

(a) 5, 3, 4, 2, 1 

(b) 3, 2, 5, 4, 1 

(c) 2, 3, 4, 5, 1 

(d) 3,  5, 4,  1, 2 

104. National Extension System was started 
in the year 

(a) 1952 

(b) 1953 

(c) 1954 

(d) 1956 

105. Which of the following are not correct? 

1. Human Rights Day and 10th 
December 

2. World Red Cross Day and 8th May 

3. World Environment Day and 11th 
December 

4. World AIDS Day and 5th June 

Codes: 

(a) 3 and 4 only 

(b) 1 and 4 only 

(c) 2 and 3 only 

(d) 1 and 2 only 

106. In poster, ABC means 

(a) attention, brief and clear 

(b) attention, bold and clear 

(c) attractive, brief and clear 

(d) attractive, brief and colourful 

107. Last people to adopt new practices are 
called 

(a) late adopters 

(b) innovators 

(c) early adopters 

(d) laggards 
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108. Aristotle model of communication 
process contains 

(a) three elements 

(b) four elements 

(c) five elements 

(d) six elements 

109. The theory of human motivation was 
postulated by 

(a) Skinner 

(b) Piaget 

(c) Pavlov 

(d) Maslow 

110. Sanitation, conservation and water 
supply are the functions of 

(a) Panchayat 

(b) Panchayat Samiti 

(c) Zilla Parishad 

(d) None of the above 

111. The concept of 'democratic 
decentralization' is given by 

(a) Vengal Rao 

(b) G. S. Mehta 

(c) M. S. Randhava 

(d) Baiwant Rai G. Mehta 

112. The principle of extension education is 

(a) learning by seeing 

(b) learning by doing 

(c) learning by reading 

(d) learning by hearing 

113. Maximum number of flash cards can be 
used is 

(a)  20-22 

(b)  10-12 

(c)  15-20 

(d)  6-8 

114. Which of the following tests is used to 
compare the variance of the two 
independent samples? 

(a) t-test 

(b) x2-test 

(c) Z-test 

(d) F-test  

108. iiT.i 1k 

(a) fiI 

(b)  

(c)  

(d) : 

109. 411.4c41q  3fUfl f1..cf I4IIC1 1I TjZfl 

(a) f-iT1 

(b) 1ii R1 

(c) cci UT 

(d) Itm 

110.  iui t iw.ij 1* ? 

(a)  

(b) 'iii  

(c) 1 iii tftq  

(d) Th R 

111. qo' jgu  ru 

(a) iIcfT 

(b) 5fto to ;(1I 

(c) to 10 

(d) s4t-c( 

112. RiT1TT fi.ci 

(a) fti.ir 

(b)  kfIil 

(c) T 

(d) 'i  kII4SH1 

113. RT iT   * 

(a) 20-22 

(b) 10-12 

(c) 15-20 

(d) 6-8 

114. t 1 i.ifliii t  

cr  Ir titr 

(a) -T 

(b) (X2)P3r 

(c)  

(d) w-iftiut 

/23-B 25 [ P.T.O. 

https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/


115. Observation is made for a specific short 
period in which of the following types of 
observation techniques? 

(a) Naturalistic observation 

(b) Informal observation 

(c) Time sampling observation 

(d) None of the above 

116. Item analysis approach is used in 
formulation of 

(a) Likert-type scale 

(b) Thurstone-type scale 

(c) Guttman's scale 

(d) None of the above 

117. Which of the following divides the data 
set into two equal parts? 

(a) Mean 

(b) Mode 

(c) Median 

(d) Chi square 

118. Which is not the measure of central 
tendency? 

(a) Mean 

(b) Median 

(c) Mode 

(d) Range 

119. Which among the following is the best to 
use when comparing parts of a whole? 

(a) Bar graph 

(b) Line graph 

(c) Pie graph 

(d) None of the above 

120. Proposed solution to a problem is 

(a) hypothesis 

(b) answer 

(c) result 

(d) deduction 

115. 1 1cbR UJ (1ccb 1UT  

ii1i c1  3TftT r  1   a ? 

(a) I1IctTUT 

(b)  

(c) z1i 1fI'*4.1 UT 

(d)  

116. ti_rciui '*t1 T M'1'1 frir1ur ii 

tic1i 

(a) ft9 1cbR T 1 TRT 

(b) 1RTHI1F 

(c) i1i qrRi 

(d)  

117. 1{   Z   fu1 

(a) 'flE 

(b) 41 

(c) IIH 

(d) EF *i 

118. sk T U'cb c4-1T wf ? 

(a) 'TtPT1 

(b) 4ItT 

(c) c1ct 

(d)  
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121. Which one of the following bacteria can 
grow in alkaline pH? 

(a) Lactobacilli 

(b) Vibrio cholerae 

(c) Salmonella 

(d) Staphylococcus 

122. Non-nutritive substances added 
intentionally to food are 

(a) food additives 

(b) food supplements 

(c) fermented foods 

(d) fortified foods 

123. E. coli is a 

(a) Gram-positive bacterium 

(b) Gram-negative bacterium 

(c) neutral bacterium 

(d) All of the above 

124. The Environment Protection Act was 
passed in the year 

(a)  1974 

(b)  1975 

(c)  1956 

(d)  1986 

125. Skill India Programme was launched by 

(a) Shri Manmohan Singh 

(b) Dr. Abdul Kalam 

(c) Shri Narendra Modi 

(d) Pandit Jawaharlal Nehru 

126. Which among the following instruments 
is used to measure blood pressure? 

(a) Sphygmomanometer 

(b) Thermometer 

(c) Goniometer 

(d) Luxmeter  

121. f4 4 4 P-BT c*c)1ki IT pH 4  
qi 

(a) 4cIiç.1t 

(b) gi/j)  q,1c1<, 

(c) 1el)i1 

(d) ii))i 

122. 31 ftq 4 i 4 
1t tI L 

(a)  

(b)  

(c) '4S 

(d) Itt 

123. E. coli 

(a) —iT1'$.c ctc)4f 

(b) i-1')Q t1Tkii 

(c) 91  

(d) rfl 

124. 41c4UI Wul 3fbi - i r rki '3ii n? 

(a) 1974 

(b) 1975 

(c) 1956 

(d) 1986 

125. 'q.mi 'R c,j4(' Iti iii1ici qi n? 

(a) 4ifi 

(b) io 3T1 cbv114{ 

(c) 'ft  

(d) TftT IcI1I:1 

126. f  4 4 btlI'1 II4 

(a) -il4k. 

(b) il4kt 

(c) 'I414k 

(d) tki4fic 
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127. Causes of food spoilage are 

(a) bacteria 

(b) yeasts 

(c) moulds 

(d) All of the above 

128. Most food spoilage bacteria grow at 

(a) acidic pH 

(b) alkaline pH 

(c) neutral pH 

(d) All of the above 

129. BCG vaccine is given for protection 
against 

(a) cholera 

(b) gout 

(c) measles 

(d) tuberculosis 

130. Type(s) of dressing is/are 

(a) surgical gauge swab 

(b) non-adhesive gauge 

(c) adhesive gauge 

(d) Both (a) and (b) 

131. Consider the following and select the 
correct answer from the codes given 
below 

1. The principle effect of insulin on 
carbohydrate metabolism is to 
decrease the utilization of glucose 
by most tissues. 

2. The most important effect of insulin 
is to decrease the rate of glycogen 
formation. 

Codes 

(a) 1 only 

(b) 2 only 

(c) Neither 1 nor 2 

(d) Both 1 and 2  

127. i1F1 R T c4uI 

(a) c1f41 

(b) fI 

(c)  

(d)  

128.   *c!1fkil 
ct)1ç1 1I 

(a) 3fipH 

(b) TTpH 

(c) pH 

(d) •fTh 

129. to fto fto T 14I c1I1 c(11 

(a) c4,kkI 

(b) ifii 

(c) *i 

(d)  

130. 4fPT T/r 

(a) kjfl 

(b)  

(c) 1i ccfl q 

(d) (a) 1T (b) -i 

131.iTR 

1.  WII4W4 T 

41 MTr cicl g.Ri .LI4liI t 

4!.I11 

2.  i ET11iT 
ii)*i-lW1ui t I 

(a)  1 

(b)  5f2 

(c)  i1,E2 

(d)  12c 
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132. Match List—I with List—I! and select the 
correct answer using the code given 
below the Lists 

List-I List-H 
A. Values 1. Parker 
B. Work 2. Follet's suggestion 

simplification 

C. Decision making 3. Mundel's classes 
of change 

D. Budget 4. Engel's law 

5. Prang 

Codes 

(a)A B C D 
13 2 4 

(b) A B C D 
5 1 3 2 

(c) A B C D 
5 3 2 4 

(d) A B C D 
1 2 3 4 

133. Which of the following is a functional 
unit of kidney? 

(a) Bowman's capsule 

(b) Malpighian corpuscle 

(c) Pyramid 

(d) Nephron 

134. FMN and FAD are coenzymes derived 
from 

(a) riboflavin 

(b) thiamine 

(c) pyridoxine 

(d) niacin 

135. Bowman's capsule is found in which 
organ of the human body? 

(a) Heart 

(b) Kidney 

(c) Lungs 

(d) Large intestine 

136. The one enzyme found in the saliva of 
the mouth is 

(a) pepsin 

(b) insulin 

(c) ptyalin 

(d) bile juice  

132. 44I q -H iii 41 iii fl 1 

-II 

B. -kflcuI 2. 

C. PuTnd 3. 

D. 4. 5ii 
5. 

(a) A B C D 
1 3 2 4 

(b) A B C D 
5 1 3 2 

(c) A B C D 
5 3 2 4 

(d) A B C D 
1 2 3 4 

133. I4 cqTc  

(a) )i '41 

(b) 11r.1 kI4*1 

(c) 1JlZ.s 

(d) T4 

134. FMN 1  FAD L 
(a)  

(b) iiTh 
(c) iqLslTi4 

(d) Psiif-i 

135. 14 '4c'1 kIO Pb*i WT it i%iT ? 

(a)  

(b) 1 
I 

(d) t4) 

136. 1 l.-iit, it 31 '1c1tclF ¶Zfl flçfl 

L 
(a) f'R 

(b) -1i-i 
(c) i1i.i 
(d) cfT 
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137. The process of digestion begins in the 

(a) mouth 

(b) stomach 

(c) small intestine 

(d) large intestine 

138. The adrenal gland is situated in the 
human body 

(a) over the kidney 

(b) over the stomach 

(c) over the liver 

(d) over the pancreas 

139. The main functions of minerals in the 
body are 

(a) giving energy and protection 

(b) body building and energy giving 

(c) protective and regulatory functions 

(d) None of the above 

140. Which of the following hormones is 
called as fat-producing hormone? 

(a) Estrogen 

(b) Insulin 

(c) Progesterone 

(d) Thyroxine 

141. Low calorie, low fat, low sodium with 
normal protein is prescribed in 

(a) diabetes 

(b) jaundice 

(c) hypertension 

(d) peptic ulcer 

142. Vegetarian diets are usually low in 

(a) saturated fatty acid 

(b) fibre 

(c) unsaturated fatty acid 

(d) vitamin C 

143. Most important essential fatty acid for 

an infant is 

(a) linolenic acid 

(b) linoleic acid 

(c) archidonic acid 

(d) None of the above  

137. '.i*i-ii Tt'T 

(a)  

(b) 3ii-iii 

(c) 3T 

(d) 4t3I1f 

138. HH4 ' iT?1 % 

(a) "k 

(b) 3iI1.wtl 

(c) cf 

(d) 3i-iiii 

139.  i ciciui is1 

(a) 1 W1 R1 

(b) F(k_i 1TT1JT tr ii.r  

(c) T?ft1141.1 

(d) mct1ff 

140. 1.{ T4 MT   c4lc,1F 
c4 1R1E 

(a)  

(b)  

(c) )~T.i 

(d) iTfi 

141. IH 1.I c1, #I11 I4fr4 

1P-T 1dII4ct 141 IIdI 

(a) 9 
(b) '4lIii ii 

(c) mii' 

(d)  

142. I1cbIIO 31TR It k1IHI--4c1: cb4) 1cR t 
(a)  

(b)  

(c) T*fl43T 

(d) 1ii1-i C 

143. frj T1 i'-I 3iiit  

(a) fl1cb.3 

(b) Iflcb3T 

(c) 3I13 

(d) dThct1R 
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144. Mental retardation is indication of 
deficiency of 

(a) calcium 

(b) phosphorus 

(c) iron 

(d) iodine 

145. Which form of vitamin D does not occur 
in nature? 

(a) D3  

(b) D2  

(c)D 

(d) D4  

146. Pallegra is caused due to deficiency of 

(a) riboflavin 

(b) folic acid 

(c) niacin 

(d) calcium 

147. Alfa toxins are found in 

(a) peanuts 

(b) apple 

(c) milk 

(d) cheese 

148. Semi-essential amino acid is 

(a) leucine 

(b) alanine 

(c) valine 

(d) arginine 

149. A vitamin which helps in iron absorption 
is 

(a) vitamin B12 

(b) vitamin C 

(c) vitamin B6 

(d) vitamin E 

150. The name of the protein present in egg 
in combination of biotin is 

(a) avidin 

(b) globulin 

(c) albumin 

(d) myosin 

144. IiRc11 I4kc4l T 1UT  ? 

(a)  

(b) T*1

(c)  

(d) 3i1.i 

145. rlr4 D T ;T-1 3TR i1 tfl 

(a) D3  

(b) D2 

(c)D 

(d) D4  

146. 1T .II i 

(a) u1'1f4 

(b)  

(c) iifw 

(d) 14 

147. T i1.i.i iT 

(a)  

(b)  

(c)  

(d) f11 

148. 3%-3iicl1cb 3T4R 3TT 

(a) fl.i 

(b) ij1f.j 

(c) fl4 

(d) ii11.i 

149. II144, 31 1qui k1I-4c1i dI 

(a) 1I14 B12 

(b) 1fr.Ir4 C 

(c) 1i1Z-i B6 

(d) 1icifZ.i E 

(a) jr1 

(b)  

(c) tcqjZi 

(d) Ii1l4 
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